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These questions are for use by Missouri State High School Activities Association members for conference competitions and independent tournaments. The Scholastic Bowl Company of Virginia, using tossups from Virginia High School League competition, writes them. 

There are 36 matches for this use. Each entity (conference or tournament) will be assigned matches for their competition. 

Users of these questions are allowed to distribute the rounds they have been assigned to the competing teams. Sharing these questions with teams not in that competition is not allowed but general discussion of the questions is permitted, as long as answers are not being shared. 
First period: 15 tossups
TOSSUP 1
MATH-Arithmetic
THIS IS A COMPUTATION QUESTION. Convert the binary number 1011101 (one-zero-one-one-one-zero-one) into a decimal number, given that it is equal to 64 plus 16 plus 8 plus 4 plus 1.

ANSWER: 93
TOSSUP 2
SOCIAL STUDIES-Geography
Its Seven Sisters are skyscrapers that include the Red Gates Administrative Building. The Central Administrative Okrug is one of this city’s 10 administrative okrugs. The Old Arbat is a popular tourist destination, as are the Bolshoi Theater and Gorky Park. What largest city in Europe is the capital of Russia? 

ANSWER: Moscow, Russia

TOSSUP 3
MISCELLANEOUS-Current events

An early investor in NEXTEL, his first political foray was a loss in the 1994 Senate elections to John Warner, but he found success in 2001, prior to announcing he was not seeking the Presidency in 2008. Who is this Democrat, and former Governor of Virginia, who announced he was seeking John Warner’s vacant Senate seat in 2008?

ANSWER: Mark Warner (prompt on ‘Warner’)

TOSSUP 4
SCIENCE-Chemistry
It is a flammable, colorless liquid and it can dissolve both polar and non-polar substances.  It can be produced through the hydration of ethylene and by fermenting sugars with yeast.  Its molecular mass is 46 and its chemical formula is C2H5OH.  Name this compound used in antiseptics, solvents, alcoholic beverages, and automobile fuel.

ANSWER: ethanol or ethyl alcohol (prompt on ‘alcohol’)

TOSSUP 5
LITERATURE-World literature
In 1975, the New York Times published an obituary of this fictional character after the publication of Curtain. In 1916, he met Captain Arthur Hastings while a refugee from occupied Belgium and then set up a detective office at 56B Whitehaven Mansions in London. Who used his ‘little gray cells’ to solve crimes in novels by Agatha Christie? 

ANSWER: Hercule Poirot (pwah-roh)

TOSSUP 6
SCIENCE-Biology
Brazil is its largest producer, followed by the United States and Mexico.  It originated in Southeast Asia, possibly as a hybrid between the pomelo and tangerine.  Types of it include blood, Persian, navel, and Valencia.  Name this citrus tree and close relative of lemons and limes that grows a fruit that shares its name with its color.

ANSWER: orange(s)

TOSSUP 7
MATH-Algebra
THIS IS A COMPUTATION QUESTION. Solve for x.  15x minus 25 equals 8x plus 31, which is equivalent to the equation 7x minus 56 equals zero.

ANSWER: x equals 8
TOSSUP 8
LITERATURE-Mythology
Snorri Sturleson gave them extra duties, such as waiting on the tables where countless einherjar (eyen-her-yar) ate and drank. Originally, they were old hags atop wolves; this was replaced by the modern image of beautiful maidens on flying horses. Brynhilde (brin-hil-duh) is the best known of what minor goddesses that chose men who died heroically in battle and brought them to Valhalla?  

ANSWER: Valkyrie(s)

TOSSUP 9
FINE ARTS-Classical music
It is possible that a minuet from the Piano Sonata in B-flat is this work’s missing movement. Number 525 in the Köchel (kay-shel) catalogue, it was a small diversion from the composer’s Don Giovanni. Mozart’s Serenade for strings in G major is better known by what name that indicates a small amount of sound is to be played in the evening?

ANSWER: Eine kleine Nachtmusik or A Little Night Music

TOSSUP 10
SOCIAL STUDIES-US history
This law had its genesis in Thomas Jefferson’s plan to create seventeen new states from some territory relinquished by the original thirteen. It provided for three to five new states in that territory once populations reached 60,000. Slavery was outlawed north of the Ohio River by what 1787 law that created America’s first organized territory? 

ANSWER: Northwest Ordinance
TOSSUP 11
LANGUAGE ARTS-Grammar
Several languages outside Europe have “exclusive” and “inclusive” forms of this subject case pronoun. Other times it can be “editorial,” as in many newspaper opinion pieces. John Paul I was the first Pope to stop using it to refer to himself, although many monarchs still use it to express their non-amusement. What is the plural of “I”?

ANSWER: we
TOSSUP 12
SCIENCE-Geology
These can be classified as either sinistral or dextral, based on the direction of motion.  A number of them exist from the Jurassic Period in the Blue Ridge Mountains, though a more common one is active in California.  What this kind of fault, also known as a transverse fault, that exhibits lateral motion in places like the San Andreas Fault?

ANSWER: strike-slip fault (accept transverse fault before mentioned)

TOSSUP 13
SOCIAL STUDIES-World history
He killed one of his crewmen, gunner William Moore, with a thrown iron bucket. He supposedly buried some treasure on New York’s Gardiner’s Island. His crew attacked the Mary without permission; he attacked the Quedah, a merchant ship with French safe-conduct passes. What captain of the Adventure was hanged for piracy on May 23, 1701? 

ANSWER: (Captain) William Kidd
TOSSUP 14
LITERATURE-US literature
He created the planets of Barsoom and Amtor, basing them on Mars and Venus. He envisioned intelligent pterosaurs called Mahars that lived in a hollow earth in his Pellucidar series. He wrote 24 books he wrote about John Clayton, the Lord Greystoke, and his eventual wife, Jane Porter. Who created the Lord of the Apes, Tarzan? 

ANSWER: Edgar Rice Burroughs
TOSSUP 15
MATH-Arithmetic
THIS IS A COMPUTATION QUESTION. What is the sixth triangular number?

ANSWER: 21
Second period: 10 toss-ups with 4-part bonuses
TOSSUP 16
LANGUAGE ARTS-Vocabulary
This verb goes with many prepositions: with ‘down,’ it means to receive a salary; with ‘off,’ it means to successfully perform something; and with ‘over,’ it means to move an automobile out of the traffic lanes. What word describes a force that causes motion towards the source of the motion, or is what contestants do in tug-of-war to the rope? 

ANSWER: pull
BONUS 16
MATH-Arithmetic

Consider the number 525. Now:

A.
Express the square root of 525 as a fully simplified radical.



ANSWER: 5 square roots of 21
B.
What is the product of 525 and 32?


ANSWER:  16,800
C.
What is the fraction 140/525 in lowest terms?


ANSWER: 4/15
D.
What is 525 in hexadecimal?


ANSWER: 209
TOSSUP 17
SCIENCE- Physics 

Francis Aston won a Nobel Prize for discovering many isotopes by using this device; also, it made possible John Fenn and Koichi Tanaka’s Nobel Prize win.  Its three main parts are an ion source, a mass analyzer, and a detector system.  Name this laboratory device that is used to measure the mass-to-charge ratio of ions.

ANSWER: mass spectrometer
BONUS 17
LITERATURE-US literature

Name these characters from Mark Twain novels that are not ‘Adventures.’

A.
This boy who lives with his abusive father in London is identical to the future king of England.

ANSWER: Tom Canty (accept either) 
B.
In another story of switched identities, this slave owner is confused with Chambers, his slave.

ANSWER: Tom Driscoll

C.
This citizen of Hartford, Connecticut inexplicably travels back to Camelot.

ANSWER: Hank Morgan

D.
In a short story published a year before Twain’s death, the title character takes a cosmic journey to heaven.

ANSWER: Captain Elias Stormfield

TOSSUP 18
MATH-Geometry
THIS IS A COMPUTATION QUESTION. If a triangle has angles measuring 2x degrees, 3x degrees, and 7x degrees, what is the value of x?

ANSWER: x equals 15 degrees
BONUS 18
SOCIAL STUDIES-World history

Identify these countries in which the Soviets interfered. 

A.
In 1979, the Soviet Union invaded what neighbor, leading to Jimmy Carter boycotting the Olympics? 


ANSWER: Afghanistan
B.
In what country did the Soviets back the Sandanista government against the Contras? 


ANSWER: Nicaragua
C.
In 1968, the Soviets and their Warsaw Pact allies invaded what country?


ANSWER: Czechoslovakia (DO NOT accept ‘Czech Republic’)
D.
The Soviets backed the government against the UNITA group in what African country? 


ANSWER: Angola
TOSSUP 19
LITERATURE-World literature
He first appeared in the 1630 play The Trickster of Seville and the Stone Guest. George Bernard Shaw wrote Man and Superman about him. In Mozart’s portrayal, he failed to seduce the peasant girl Zerlina. Lord Byron portrayed him as easily seduced by women. Who is this notorious womanizer of literature and music? 

ANSWER: Don Juan
BONUS 19
SCIENCE-Biology

Name these conditions for which prenatal or perinatal screening is routinely offered:

A.
This condition is caused by an extra copy of chromosome 21.

ANSWER:
Down('s) syndrome [prompt on "trisomy 21"]

B.
In this condition, the neural tube fails to close completely. Paralysis of the lower limbs is a common symptom.

ANSWER:
spina bifida [SPY-nuh BIF-uh-duh]

C.
All children are now tested for this condition, the inability to properly metabolize phenylalanine [FEH-nil-AL-uh-neen]

ANSWER:
PKU or phenylketonuria
D.
A gene on chromosome 7 for a chloride channel is mutated in this condition.

ANSWER:
CF or cystic fibrosis (of the pancreas) or mucoviscoidosis
TOSSUP 20
MISCELLANEOUS-Pop culture

She starred as Ms. Norbury in a film she also wrote the screenplay for. Her regular spot hosting Weekend Update with Amy Poehler marked the first time that two women anchored the segment on Saturday Night Live. What UVa alumna wrote the screenplay for Mean Girls and portrays Liz Lemon on the NBC show 30 Rock?

ANSWER: Tina Fey
BONUS 20
SOCIAL STUDIES-Economics
Answer these questions about an economic process.

A.
What term means, ‘a decrease in the general price level over a period of time’?


ANSWER: deflation
B.
Deflation was normal in the late 19th century, when we were on what monetary system named for the metal that backed currency?


ANSWER: gold standard
C.
What country experienced deflation during the entire decade of the 1990s, in the aftermath of its investors having to sell back the Rockefeller Center? 

ANSWER: Japan
D.
Japan had fallen into what type of trap that happens when interest rates are near zero and people eschew stocks and bonds to hold cash? 

ANSWER: liquidity or liquid
TOSSUP 21
MATH-Arithmetic
THIS IS A COMPUTATION QUESTION. If A = 26, B = 25, etc., through Z = 1, what is the numerical value of C times X times F?

ANSWER: 1512
BONUS 21
SCIENCE- Biology

THIS IS A COMPUTATION QUESTION. Answer these numerical genetics questions:

A.
If two parents who are heterozygous for a certain autosomal gene have a child, what is the probability that the child is also heterozygous?

ANSWER:
1/2 or 50% [accept equivalents]

B.
A human ovum has 23 chromosomes. How many chromosomes are there in the oogonium [OH-oh-GOH-nee-um] that gives rise to the ovum?

ANSWER:
92
C.
According to Hardy-Weinberg equilibrium, if 4% of a population expresses a recessive trait, what is the allele frequency for the recessive allele?

ANSWER:
20% [accept equivalents]

D.
For how many distinct tripeptides can a 9-base-pair segment of DNA code?

ANSWER:
8,000 [prompt on "20 to the third power"]

TOSSUP 22
SOCIAL STUDIES-US history
This graduate of Lewis and Clark College had her name emerge in association with Paula Corbin Jones’ sexual harassment trial. She made friends with Pentagon co-worker Linda Tripp and bought a blue dress while working at the White House. Bill Clinton declared, ‘I did not have sexual relations with that woman,’ about what intern? 

ANSWER: Monica Lewinsky
BONUS 22
LITERATURE-World literature

Name the French author from works.

A.
The Count of Monte Cristo

ANSWER: Alexandre Dumas, pere

B.
From the Earth to the Moon

ANSWER: Jules Verne
C.
No Exit



ANSWER: Jean-Paul Sartre
D.
Man’s Fate



ANSWER: Andre Malraux

TOSSUP 23
SCIENCE-Physics
Although none have ever been observed, much less traversed, general relativity cannot rule out their existence.  Types of them include Euclidean, Lorentzian, Schwarzschild, and Morris-Thorne.  They could allow time travel.  Name this feature of space-time that is at least two mouths and a throat forming a shortcut through time and space.

ANSWER: wormhole
BONUS 23
MISCELLANEOUS-Pop culture

I will give you a current NBA player’s nickname, you provide his real name.

A. 
Agent Zero


ANSWER: Gilbert Arenas
B. 
Big ticket


ANSWER: Kevin Garnett

C. 
The Matrix


ANSWER: Shawn Marion
D. 
White Chocolate

ANSWER: Jason Williams
TOSSUP 24
LITERATURE-US literature
This novel’s protagonist lives in the Home of the Infants and the Home of the Students before being assigned to the Home of the Street Sweepers. The protagonist angers the World Council of Scholars and then moves to a house from the Unmentionable Times. Equality 7-2521 and Liberty 5-3000 fall in love in what novel by Ayn Rand? 

ANSWER: Anthem
BONUS 24
FINE ARTS-Visual

Name these directors of silent films for five points each.

A. 
He directed "The Birth of a Nation" and "Intolerance."

ANSWER: D. W. Griffith
B. 
The Odessa Steps sequence is still the most celebrated part of this Soviet 

filmmaker's "Battleship Potemkin"

ANSWER: Sergei Eisenstein
C.
In 1903, he invented parallel editing with his short Western "The Great 

Train Robbery."

ANSWER: Edwin S. Porter
4. 1936's "Modern Times" was the last appearance of the character of "The 

Tramp," whom he had played for 20 years.

ANSWER: Charlie Chaplin
TOSSUP 25
SOCIAL STUDIES-Geography
This city grew around the Mission Dolores, and William Richardson set up a town at first called Yerba Buena. Its Nob Hill district was home to millionaires like Leland Stanford. It was the headquarters for Levi Strauss’ clothing maker and the Wells Fargo bank. On April 18, 1906, what city began rebuilding after being hit by an earthquake? 

ANSWER: San Francisco
BONUS 25
MATH-Computer science

Given a keystroke combination name what the outcome would be.

A. 
Alt –F4

ANSWER: Close the active window
B. 
Ctrl-P


ANSWER: Print the active page

C. 
Alt-Tab

ANSWER: Switch windows (accept synonyms for switch)
D. 
F5


ANSWER: Refresh the active window
HALFTIME
Third period: 15 toss-ups
TOSSUP 26
SCIENCE-Chemistry
It contains bond angles of about 120 degrees and can be generated from the Wittig reaction or the Shapiro reaction.  Examples of it include butylene, propylene, and its simplest one, ethylene.  Name this unsaturated chemical compound also known as olefin that contains at least one carbon-carbon double bond and has general formula CnH2n.

ANSWER: alkene
TOSSUP 27
SOCIAL STUDIES-Education
In the 1980s, their activity was slowed by the FBI’s DipScam operation, but the Internet has made them easier to open. They tend to award excessive credit for ‘life experience’ and have certifications from agencies not recognized by the Department of Education. What institutions do not require actual work to graduate college? 

ANSWER: diploma mill(s) or degree mill(s)

TOSSUP 28
LITERATURE-US literature
This short story’s title character wears earphones, thick eyeglasses, three hundred pounds of metal, and a red ball on his nose, as the 211th, 212th, and 213th Amendments require. He declares himself Emperor, but is shot by Diana Moon Glampers, the Handicapper-General. Everyone is equal in what short story by Kurt Vonnegut? 

ANSWER: “Harrison Bergeron”

TOSSUP 29
FINE ARTS-Visual
In this city, the Penrose brothers started a company in 1783. Today, the Lismore collection is made here, as is the ball dropped in Times Square on New Year’s Eve. Charles Bacik started the modern company with this name in 1947; it became part of the Irish Glass Bottle company. What is this Irish city, famous for its fine crystal? 

ANSWER: Waterford (Crystal)

TOSSUP 30
MATH-Computer science
In 1959, Donald Shell took its algorithm and created the Shell sort. By its nature it works best for small data sets, or substantially sorted data sets. Name this sorting algorithm that works by taking the next entry in the data and placing it into a list that is built one data entry at a time. 

ANSWER: Insertion Sort

TOSSUP 31
LITERATURE-World literature
Supporting characters in this play include Menas the pirate, Enobarus, and Lepidus. Shakespeare uses more scenes in this play than any of his others, as the action constantly switches between Sicily, Syria, Athens, Rome, and Egypt. In what play does Octavius emerge triumphant over the title characters, the queen of Egypt and her lover?

ANSWER: Antony and Cleopatra
TOSSUP 32
SOCIAL STUDIES-World history
During the Nara period, this term described a serf that had fled his master’s lands, but it later applied to higher-ranking people. By 1651, there were nearly half a million of them, and they rebelled in the Keian Uprising. In 1701, there was an incident involving 47 of them and Kira Yoshinaka. What term describes a samurai without a lord? 

ANSWER: ronin
TOSSUP 33
MATH-Algebra
It was invented by Edouard Lucas in 1883.  For seven discs it requires a minimum of 127 moves.  For n discs, the minimum solution requires one less than two to the n moves.  Name this puzzle involving moving discs of different sizes from one peg to another that is named after the capital of Vietnam.

ANSWER: Tower of Hanoi or Towers of Hanoi
TOSSUP 34
LITERATURE-World literature
After supposedly falling off the Reichenbach Falls he made his ‘Return,’ ‘Last Bow,’ and ‘Case-Book.’ He often worked with Scotland Yard’s Inspector Lestrade. Mrs. Hudson was his landlord; Professor Moriarty was his greatest nemesis; and Dr. John Watson was his roommate. Who was this detective created by Arthur Conan Doyle? 

ANSWER: Sherlock Holmes
TOSSUP 35
LANGUAGE ARTS-Vocabulary
This word’s 18th century origin was a nickname for a cobbler’s apprentice. William Makepeace Thackeray gave it a meaning of someone of low class acting ‘above his class.’ It started applying to taste in food, wine, and other things around 1910. What word describes someone stuck-up towards others, or who fancies himself an expert in a field? 

ANSWER: snob

TOSSUP 36
SOCIAL STUDIES-US history
This state’s constitution had to include the Willey Amendment, which abolished slavery, before it could be admitted. Originally called Kanawha, Berkeley and Jefferson Counties voted to join this state after the Second Wheeling Convention created it. What state succeeded from another state during the Civil War? 

ANSWER: West Virginia
TOSSUP 37
SCIENCE-Biology 
Over seven hundred species of bacteria live in this organ.  It is about one and a half meters long and parts of it include the epiploic appendages, haustra, cecum, and taeniac coli.  It functions to absorb water and store and eliminate waste.  Name this digestive organ also known as the colon.

ANSWER: large intestine (accept colon before mentioned in question)

TOSSUP 38
MISCELLANEOUS-Classic pop culture

This movie’s protagonist becomes romantically involved with Edie Doyle. Influenced by Father Barry, the protagonist testifies publicly but has to fight mobster Johnny Friendly. The line, “I coulda been a contender” was said by Marlon Brando’s character Terry Malloy in what 1954 movie about dockside mob corruption?

ANSWER: On the Waterfront
TOSSUP 39
MATH-Arithmetic
THIS IS A COMPUTATION QUESTION. What is 2 to the fourth times 2 cubed, given that x to the n times x to the m equals x to the n plus m?

ANSWER: 128
TOSSUP 40
SCIENCE-Famous scientists
He wrote “The Median Isn’t the Message” about his experience with mesothelioma. He coined the term “Non-Overlapping Magisteria” to describe his idea that science and religion couldn’t comment on each other’s realms. What evolutionary biologist believed that evolution occurs in short bursts, an idea known as punctuated equilibrium? 

ANSWER: Stephen Jay Gould
Fourth period: 10 toss-ups with 4-part bonuses
TOSSUP 41
MATH-Geometry
THIS IS A COMPUTATION QUESTION. What is the radius of a circle with area 121 pi square meters?

ANSWER: 11 meters
BONUS 41
SCIENCE-Chemistry

In organic chemistry, what name is given to the class of molecules that have . . .

A. 
One or more double bonds?

ANSWER: alkenes or olefins

B. 
A carbon double-bonded to an oxygen atom and single-bonded to a hydrogen atom?

ANSWER: aldehyde [prompt on “carbonyl”]

C. 
An OH group?

ANSWER: alcohol
D. 
An oxygen atom that forms single bonds to two carbon atoms?

ANSWER: ether
TOSSUP 42
LITERATURE-Religion
The Dhabihha method of slaughter is used to ensure food is this. All scholars agree this condition does not apply to blood, carrion, and carnivores, as there are Qur’an verses explicitly prohibiting eating those items. Haraam is the opposite of what word, which refers to anything permissible under Islam, especially with regard to food?  

ANSWER: halal
BONUS 42
LANGUAGE ARTS-Grammar

Identify these punctuation marks. 
A.
What mark is used to form the plural of lower-case letters but never at any other time? 

ANSWER: apostrophe(s)
B.
What punctuation mark can separate a list from the rest of the sentence, or to introduce a definition? 


ANSWER: colon(s)
B.
What symbol evolved from the two letters in the Latin word et? 

ANSWER: ampersand(s)
C.
What series of three periods are used to indicate a trailing thought or an omitted passage in a quote?

ANSWER: ellipsis
TOSSUP 43
MATH-Arithmetic
THIS IS A COMPUTATION QUESTION. What is the cube root of –512?

ANSWER: -8
BONUS 43
SOCIAL STUDIES-US history

Answer these questions about rural America in the 19th century.
A.
Many rural Americans voted for what man that ran for President in 1986, 1900, and 1908?


ANSWER: William Jennings Bryan
B.
Victory in Munn v. Illinois was a high point for what fraternal organization of farmers?


ANSWER: the National Grange of the Order of Patrons of Husbandry (accept Granger or Grangers)

C.
What native of Virginia invented a horse-drawn mechanical reaper in 1834?


ANSWER: Cyrus McCormick
D.
Who ran as the Greenback Party’s presidential candidate in 1880 and then as the Populist Party’s presidential candidate in 1892?


ANSWER: James B. Weaver
TOSSUP 44
SCIENCE-Astronomy
As it is a pointer to the Southern Cross, it is not visible in most of the Northern Hemisphere. The closest member of this system is a red dwarf that is approximately 13,000 astronomical units from the binary star. This system, located about 4 light years from Earth, is better known by what name?

ANSWER: Alpha Centauri or Rigel Kentaurus
BONUS 44
MATH-Computer science

Answer these questions about databases.

A.
Truncate, Delete, Insert, and Join are commands in what language that manages databases?


ANSWER: SQL (sequel or S-Q-L) or Structured Query Language
B.
What company claims to be the first to launch a SQL-based database system? 


ANSWER: Oracle Corporation

C.
What component of Microsoft Office is a database management system?


ANSWER: Access
D.
What word describes a field or fields in a database that gives a unique identification for a database record? 


ANSWER: key
TOSSUP 45
LITERATURE-US literature
This book’s title character makes friends with Margalo the bird and was only three and a half ounces by age 7. Garth Williams was the ninth illustrator hired for this book, for as its editor complained, ‘it is terribly difficult to draw ATTRACTIVE mice.’ What is this book by E.B. White about Frederick’s tiny second son? 

ANSWER: Stuart Little
BONUS 45
SOCIAL STUDIES-Geography

Given a middle eastern country name its capital.

A. 
Syria


ANSWER: Damascus
B. 
Jordan


ANSWER: Amman 

C. 
Saudi Arabia

ANSWER: Riyadh
D. 
Yemen


ANSWER: Sanaa
TOSSUP 46
SCIENCE-Biology
‘Mero’ ones, like sea urchins and starfish, spend their larval stages as them, and then become something else. ‘Phtyo’ ones, responsible for 90% of the world's oxygen production, live near the surface and include diatoms. From the Greek for ‘wanderer,’ what group of organisms is the primary base for the aquatic food chain?

ANSWER: plankton
BONUS 46
MISCELLANEOUS-Current events

Given the position last held in public office, name the 2008 democratic presidential candidate.

A. 
Junior Senator from Illinois

ANSWER: Barack Obama
B. 
Governor of New Mexico

ANSWER: Bill Richardson

C. 
Senior Senator from Connecticut
ANSWER: Christopher Dodd
D. 
Former North Carolina Senator
ANSWER: John Edwards

TOSSUP 47
SOCIAL STUDIES-US history
He was last seen alive on March 1, 1932, and his corpse was found on May 12, 1932, despite the payment of $70,000 in ransom. Bruno Hauptmann was executed for murdering this 20-month-old. Kidnapping became a federal crime after the abduction and murder of what son of a famous aviator? 

ANSWER: Charles Lindbergh, Jr. (prompt on “Lindbergh” and accept Lindbergh baby)

BONUS 47
SCIENCE-Biology

This term originally referred to any form of swelling.

A.
What is this word, five letters long in American English, that now is used to refer almost exclusively to cancer?

ANSWER:
tumor
B.
This relatively less harmful type of tumor is well-circumscribed, and does not invade neighboring tissue.

ANSWER:
benign
C.
This more dangerous type of tumor grows aggressively and invades neighboring tissue.

ANSWER:
malignant
D.
By definition, if a tumor undergoes this process of disseminating to other non-adjacent sites or organs, it is malignant.

ANSWER:
metastasis [muh-TASS-tuh-siss] [accept word forms; prompt on "met"]

TOSSUP 48
MISCELLANEOUS-Miscellaneous

When dried, this non-climacteric fruit can make sultanas. It produces the important antioxidant resveratrol, and is affected by diseases such as leafroll, chlorosis, and black rot.  Types of them include kerner, listan, zinfandel, and merlot.  Name this fruit of the genus Vitis that grows on vines and is often used to make jam, jelly, raisins, and wine.

ANSWER: grape
BONUS 48
LITERATURE-World literature

Name these Agatha Christie characters.

A.
This Belgian detective first appears in The Mysterious Affair at Styles.

ANSWER: Hercule Poirot

B.
This old maid and amateur detective lives in St. Mary Mead.

ANSWER: Miss Jane Marple

C.
This woman is murdered at Monkswell Manor in The Mousetrap, showing the others that there is a murderer in their midst.

ANSWER: Mrs. Boyle
D.
If you’ve had the ending to The Mousetrap spoiled for you, you’ll know that this policeman was the murderer.

ANSWER: Sargeant Trotter
TOSSUP 49
FINE ARTS-Dance
This style of music was created by brothers Orestes and Cachao (kah-chow) Lopez. In the 1940s, a dance was created for it. The dance had the slow part of its basic step go on count 4 and count 1 of the following measure. What music and dance style enjoyed a revival when Prez Prado’s Number Five was covered by Bob the Builder and Lou Bega?

ANSWER: mambo
BONUS 49
MATH-Geometry

Consider the Cartesian point (3,3). Now:

A.
(3,3) is a point on a line containing the point (-2, 5). What is the slope of that line?


ANSWER: -2/5
B.
What is the midpoint between (3,3) and (-2,5)? 


ANSWER: (1/2, 4)
C.
Knowing the slope, what is the x-coordinate in the point (x, 10)? 


ANSWER: (-13 ½, 10) or (-27/2, 10)
D.
What is this point in polar coordinates, expressing theta in radians?


ANSWER: (3 square roots of 2, PI/4) 
TOSSUP 50
SOCIAL STUDIES-World history
The Villa of the Mysteries is near this city. In 1748, workers building a palace for the King of Naples rediscovered it. It was badly damaged by an earthquake in 62 AD, and repairs were still being done 17 years later. What town was destroyed along with nearby Herculaneum on August 24, 79 AD, in the explosion of Mount Vesuvius? 

ANSWER: Pompeii
BONUS 50
LITERATURE-US literature

Name these Arthur Miller plays.

A.
This allegory for McCarthyism is set in colonial Massachusetts.

ANSWER: The Crucible

B.
Eddie Carbone is a longshoreman who falls for his niece Catherine in this one-act play published in 1955.

ANSWER: A View from the Bridge

C.
Willy Loman was the protagonist of this 1949 Tony Award winner.

ANSWER: Death of a Salesman

D.
Quentin is a semi-autobiographical character in this 1964 Miller play, inspired by his failed marriage to Marilyn Monroe.

ANSWER: After the Fall
END OF MATCH

Spare questions
TOSSUP 51
FINE ARTS-Painting
His associates such as Ultra Violet were his ‘superstars.’ The ‘superstar’ era ended when he delegated filmmaking to Paul Morrissey after Valerie Solanas shot him. From his Manhattan ‘Factory,’ he mass-produced art such as Campbell’s Soup cans. What artist said, ‘In the future, everyone will be famous for fifteen minutes?’

ANSWER: Andy Warhol
BONUS 51
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. Consider two cars, one traveling at 60 miles an hour and the other at 75 miles an hour. Now:

A.
If they are both traveling from City A to City B, and their distance is 300 miles, how much longer does the slower car take? 


ANSWER: one hour or sixty minutes
B.
When the fast car reaches City B, its driver realizes he has to slow down to reach City C, 540 miles from City B, at the same time as the slow car. What speed does the fast car need to slow down to, in order to do this?

ANSWER: 54 miles per hour 
C.
If they both have CB’s that have a range of 100 miles, how long will it take for the two cars to get out of range?


ANSWER: 6 2/3 hours or 6 hours, 40 minutes
D.
If the slow car starts in City A, and the fast car starts in City B, in lowest terms, how long will it take their paths to cross?

 
ANSWER: 20/9 hours or 2 2/9 hours
TOSSUP 52
SOCIAL STUDIES-Other social studies
This Cabinet Department was established in 1980, and has fewer employees than any other Cabinet department. The Tenth Amendment prevents it from exercising direct control over instruction and curriculum. Bill Clinton gave it power to collect student loans. No Child Left Behind is administered by what Cabinet Department? 

ANSWER: Department of Education
BONUS 52
MISCELLANEOUS-Classic pop culture

Identify these old TV shows from a few characters.

A.
Cliff Barnes, Miss Ellie, and J.R. Ewing.


ANSWER: Dallas
B.
Archie Bunker and Mike Stivic.


ANSWER: All in the Family
C.
Sam Malone, Woody Boyd, and Cliff Clavin.

ANSWER: Cheers
D.
Michael, Thelma, J.J., Florida, and James Evans.



ANSWER: Good Times
TOSSUP 53
LANGUAGE ARTS-Foreign language
What three Latin words are a legal term for something indispensable, and literally mean, “without which no”?

ANSWER: sine qua non
BONUS 53
SCIENCE-Astronomy
Name these constellations:

A.
This Zodiac constellation is the namesake of an annual November meteor shower.

ANSWER:
Leo [accept The Lion; accept Leonid(s)]

B.
Rigel is the alpha star of this constellation.

ANSWER:
Orion [accept The Hunter]

C.
The center of the galaxy lies in the direction of this constellation.

ANSWER:
Sagittarius [accept The Archer]

D.
M31 is a galaxy located in the direction of this other constellation.

ANSWER:
Andromeda [accept Andromeda Galaxy]

TOSSUP 54
MATH-Algebra
THIS IS A COMPUTATION QUESTION. If x = 4 when y = 9 and maintains that ratio, what does x equal when y = 81?

ANSWER: x equals 36
BONUS 54
SOCIAL STUDIES-World history

Answer these questions about the Hundred Years’ War. 
A.
All or nothing: what two nations fought the Hundred Years’ War?


ANSWER: England and France
B.
On October 25, 1415, Henry V won what rousing victory over the French?


ANSWER: Agincourt
C.
The war meant near-total victory for what royal house of France?


ANSWER: Valois
D.
After the English victory at Crécy (CRAY-see), Edward the Black Prince destroyed the French again at what battle? 


ANSWER: Poitiers (PWAH-tee-ay)
TOSSUP 55
MISCELLANEOUS-Current events
This website was founded in 1997 by Rob Malda, otherwise known as CmdrTaco (Read as ‘Commander Taco.’) The effect named for this website is a flood of web traffic from this site that brings another website down. What tech news website has karma, Anonymous Cowards, and a tagline of: ‘News for nerds.  Stuff that matters’? 

ANSWER: Slashdot.org

BONUS 55
FINE ARTS-Classical music
Answer with names of musical forms, such as "march" or "sonata" for five points each.

A.
John Adams wrote two for orchestra, including Short Ride in a Fast Machine.  Copland's was "For the Common Man."

ANSWER: Fanfare
B.
Johan Pachelbel's most famous work is one written in the key of D.

ANSWER: Canon
C.
Guys and Dolls included one "for Tinhorns."  Bach's most famous is in D minor and paired with a Toccata.

ANSWER: Fugue
D.
This slow tempo is the full title of Albinoni's most famous work.  Samuel Barber wrote one "for strings."

ANSWER: Adagio
TOSSUP 56
LITERATURE-US literature
She accepted Belle Watling’s donations to the hospital. After her father died, Uncle Henry and Aunt Pittypat raised her and her brother Charles. The mother of Beau, she died during her second pregnancy. Described as a ‘real lady’ by Rhett Butler, who is Ashley Wilkes’ wife in Gone with the Wind? 

ANSWER: Melanie Hamilton or Melanie Wilkes

BONUS 56
LANGUAGE ARTS –Vocabulary

Identify these colorful terms.

A.
What term describes threatening to reveal something about someone unless money is paid?


ANSWER: blackmail
B.
What term describes the piece of paper included in someone’s paycheck that indicates they are to be laid off? 


ANSWER: pinkslip
C.
What term describes someone new to something and originates from the appearance of young cattle?

ANSWER: greenhorn
D.
What term describes refusing to make mortgage loans or pizza delivery to people in the ‘wrong’ neighborhood?


ANSWER: redline
TOSSUP 57
SCIENCE-Chemistry
IUPAC (spell it out) does not include zinc and mercury in its definition of this type of element. They typically have high tensile strength, are good catalysts, form complex ions, and have several oxidation states. Examples include vanadium and iron. What group of elements in the d-block of the periodic table contains groups three through twelve? 

ANSWER: transition metal(s) or transition element(s)

BONUS 57
LITERATURE-Mythology
Given a god or goddess, name the mythological tradition he or she comes from. For example, if I said Zeus, you would say Greek.
A.
Freyja (FRAY-yah)
ANSWER: Norse
B.
Amaterasu

ANSWER: Japanese or Shinto
C.
Viracocha

ANSWER: Inca(n)
D.
Sedna


ANSWER: Inuit or Eskimo
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